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1. You want to buy a bouquet of yellow roses and baby’s breath for $16.
‘The baby’s breath costs $3.50 per bunch, and the roses cost $2.50 cach.
You want one bunch of baby’s breath and some roses for your bouquet.
‘How many roses can you buy?

‘mail a first class letter, the ULS. Postal Service charges $.34 for the
irst ounce and $.21 for each additional ounce. It costs $1.18 to mail
your letter, How many ounces does your letter weigh?
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The sum of Juanita’s age and Sara's age is 33 yr. If Sasa s 15 years old,
how old is Juanita?

“fhe tallest plager on the basketball team is 77} in. tall. This is 9k in.
Laller than the shortest player. How tall is the shoriest player?

The distance from Baltimore to New York is about 171 mi. This is
bout 189 mi less than the distance from Baltimore to Boston. How
far s Baltimore from Boston if you stop in New York along the way?



[image: image3.png]6. The perimeter of a pool table is 30 fr. The table is twice as long as it is
wide, What is the length of the pool table?



[image: image4.png]7. Suppose your club js selling candies L raise money. It costs $100 to
vent a booth from which t0 sell the candles. If the candles cost your
club 51 each and are sold for $5 each, how many candles must be
sold 10 equal your expenses?



[image: image5.png]8. Hans needs Lo rent a moving truck. Suppose Company A. charges a rate
of $40 per day and Company B charges a $60 fe plus $20 per day. For
what number of days is the cost the same?




BONUS

[image: image6.png]The attendance at a baseball game was 400 people. Student tickets cost
$2 and adult tickets cost $3. Total ticket sales were $1050. How many
lickets of each type were sold?




